SENTENTIAL LOGIC: SEMANTIC METHODS

TRUTH TABLE VALIDITY AND THE CORRESPONDING CONDITIONAL
An argument is truth-table valid if it is impossible for its conclusion to be false while all of its premises are true.

We can represent any argument with its corresponding conditional.  When we represent an argument that is truth table valid with a corresponding conditional that conditional is a tautology.
Consider the corresponding conditional of a valid argument: 
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Since the argument is valid, the conclusion is always true whenever all the premises are true.  Furthermore, the argument is valid if and only if either 

(1) One of the premises is false, making the conjunction of the premises is false, or
(2) The conclusion is true.
However, the corresponding conditional is true whenever either,

(3) One of the premises is false (making the antecedent of the corresponding conditional false), or
(4) The conclusion is true, making the consequent of the corresponding conditional true.

Since the conditions for an argument to be truth table valid and  for its corresponding conditional to be always be true, the corresponding conditional of a truth table valid argument must be a tautology.  
